MAT 126, Lecture 1, Sept 1, 2020



Write in X2 notation: 14+2+3 + ...+ 20
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Write in X, notation: 1+3 + 5+ 7 ...+ 101
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Expand and evaluate: Zizan
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FExpand and evaluate: 22202”
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Evaluate: Z,,lg)l n

- (e N
= =i
\wo (\o \\(m:c) - \ol- SO

= —_—
2 0 2
n = |

_ Go SO





























































































































































































Find f06 f(z)dx exactly using areas.
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Approximate f06 f(z)dz using 6 intervals and left-hand rule.
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Approximate f06 f(x)dz using 3 intervals and right-hand rule.
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